8 s R ¥ for pPSP (TRAR S
v fRigin) Fefared 4 3 frm
v A dm 9 7 _

Wi
) W O T e

(C) g (D)
: | 5. cinles of State
wrective  Prin pslilllliOU =

Policy) for Indian Conlhc following

D 3 5 -
{W‘:ich N Ig TE inspired by which among
dore lh.'::n::on% the following Act laid Constitutions ? .

7 Onditions for nationalisation Eé;‘ ng:nd fg)] IE?::OTMSC

e

anking Companies SE .

and Transfer of U;Eﬁ:ﬁt:ﬁ:lg%'; 5. Y™ Hﬁ'ﬂﬁ%ﬁi 313‘3@3 19 3 P HT
MU mfaa s ?

- Act, 1970
® ge;ﬁﬁ?c %TJ,‘ Dl;,-lndia (Transfer A)  HAurfyes Igamd @ HUFR
ers B — :
(C) Banking Regulattars! (3) ey o i e o S|
(D) None of these % (C) irqu & fasg TUHN
: D) ud o wdam F ATER
1991 % 7§ i fifa (@3d) F GG §\l1jiclc 19 of the Indian Constitution

includes which rights ? .
remedies

e —

(D)  Sam Pitroda
B [ To join us on telegr-

Serlietor 3R e 6 eI
Wﬁ%ﬂﬁqﬁq:ﬁ? (A) Rightto cnnsiilulion:;_l i
(A) T iy g ~ g (B B ppmenie ™

(B) ’nﬁ**ﬁ'w (C) Right against cxploilnli_ot}

(C) Sl (D) Right to freedom of religion.

D) FEAwf 6. wada e e e S
Which among the following was the A A e ?

primary outcome of the liberalisation
and privatisation initiatives under the
New Economic Policy (NEP) in 1991 ?
(A) Fiscal policy reforms

(B) Monetary policy reforms

(C) Globalisation

(D) None of these

Prerferfaa # & o wia o gfta Fifa &
FAFFEYA AR 7

(A) BT, TV FH
| (B) W.UR.EHERE

(C) diftw FiEA
(D) #m e
Who among the following is known as the
father of green revolution in India ?
(A) Dr. Arun Krishnan
(B) M.S. Swaminathan
(C) Verghese Kurien

[(A) faum-wsa |(B)
() =mEufeE (D) = & W18 T8l
In a parliamentary system. 10 whom the
executive is responsible ”

(A) The legislatre (B)  The people
(C) The judiciary (D) None of these

frfeifiaa 3 @ @i @ e HEeE A

e w8 7

(A) forftea 3 fawga CIERIC]
B) Ta-

(C) Ueel AFTICRAl

(D) weitfiren T AT
Which among the following is not a

salient feature of Indian Constitution ?
(A) Written and Detailed Constitution
(B) Two-tier Government

(C) Single Citizenship

(D) Universal Adult Franchise

A
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{wWSHWW&ﬁ;im%m 45 Petfmmidsnw iewEdasd ? r

g 2 Which of the following fractions is the
?
A) 746a= | By 748 '“ﬁ“‘l: 5
(C) 756ar D == -
One horse pawc(r )isaﬁeju:?g qg ) 16 (B)‘ 8
approximately how many watts ? 31 63
(A) 746watts  (B) 748 wans © o @) 30
_j/ (C) 756 waus (D) None of these N
- Pefafen 4 3 R W w ek (6.73)° = (4.38)° _ \2
TER? 1. 6737+ 6.73x 4.38 + (438) <
(A) HES % Se (B) 435 . VA
(B) v =1 9y (C) 335 (D) 5.35 fc
(C) %01 %1 S ’ LB
(Dacﬂf . “-I' m | J5— 19 % o ahva 7.6 2 7 Y
chemical reaction > C © "o @ g,@.,lm v | (B) 48 wfwm .
(A) Buming of coal B (c) sowfwa (D) 35w a,
(B) Dlgﬂstiﬂnﬂffﬂﬂd t rlg' 76? 3_6
(C)  Buming of paper ’ What percent of 19 s 7. 'Ee'l/f
(D) ' Conversion of water into sieam (A) 40percent (B) 48peric /(
0.t o A frmmam 2 2 (C) 60percent (D) 35 percent
(A) %5 [(B) mgsi | E & 80 % #ig ' 4}%’
© ® (D) Fwa B e e e, . !
FCﬁ?;:\'hi(:l??ls a disease of which of the w1 3EAR A e
(A) Nose (B) Gums bt e (L pabens
(C) Heart D) Lungs A) 702 | )
M W w2, o Al § @ tar 7o (B) 722
febert e < 2 ¢ © 712 M) 73.2
'Eg; g;"mm,; 17. V12,0409 12544 =
(C) i ¥ w3t (A) 235 (B) 225
pa;% m ‘ (C) 135 (D) 1.25
oem 1s a tissue found i
among he following 7 " |60 P 12 9w s o 4
(A) Plants _ s T s g 7
(B) Mammals
(C) Reproductive organs of animals (A) e ufre (B) wEeRmife i
. (D) Insects (C) r5feH o q
R Fs mﬁmﬁmmﬁﬁﬁ&mh ' Which among the following acid is
(A) T ET (B) dHww | used in car battery ?
g? A ER : (D) WRTR (A) Acetic acid
W many tiers are there in the ic aci
Panchayati Raj System of India ? g I;?:lm h!:m =
(A) Onctier ~ (B) Three tiers : ¢ aci
(C) Twotiers (D) Four tiers (D) Sulphuric a¢id

2
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-“w’ .ﬁa’ Jﬂ'{ '@g'qﬂw%:

(A) @ sihugdm (g

O S ) T
p;"'/mﬂﬁ?am'_; -

(A) @ Fo 28 '

(B) aé?mq}znqm I

(D) 373 H @ | enough. Her asthmg was getting worse. Her
: clothes and fumiture were beginning 10 smej]
T HfE aﬂmm% A like cigarette smoke too. Elizabeth decided g
(A) wsg | ' go downstairs to talk to the neighbour. She
R — (B) Swam was going to ask him not to smoke in his
© == (D) 49=ym E“El; apartment. Elizabeth knocked on the door,
22" ' ¥ When he opened the door, a huge wave of»
- W "‘"‘ﬁa"‘?m% - cigarette smoke came out. Elizabeth began
(A) fam - (B) <A1 coughing violently. The neighbour gave
(C) waz Elizabeth a disgusted look. “Are you trying to
D) & get me sick 7" the ru:i,t_?.l'sl:om.u}'1 askhed her,
“HTET” . Elizabeth couldn't believe what he was
2¥ T Hﬁ-ﬁﬁqw & 7 saying. “No, but you are ?" she said.
(A) SH+WET |(B) e+ W= 247 Elizabeth's new neighbour lived ___.
(C) S+ (D) FHIAFEAE © (A) besides her house ;
o B) upstairs
Read the gassage carefully and answer the | EC; dgfmm"s |
corres i .
PORGAE questions : (34 and 23) (D) nextto her

For the past week Elizabeth would come
home from work and discover that- her
apartment smelled like cigarette smoke. She
did not know where the smell was coming
from. Elizabeth didn’t smoke. No one else
had the key to her apartment to smoke inside
while she was at work. The smell of smoke
especially bothered her because she had
asthma. One day Elizabeth stayed home from
work because she was expecting a package.
When she woke up that moming, the
apartment smelled fine. At onc In the
afternoon, Elizabeth went into the kitchen 1o
make a sandwich for lunch. That was when
she noticed the smell of cigarette smoke. She
called the building's superintendent. By the
ume he arrived at Elizabeth’s apartment, the
whole place smelled like cigarette smoke.
Ihe superintendent told Elizabeth that he was.
prety sure the smoke was coming up through
the vents from her new downstair's neighbour.

ﬂ.l-—-...“
The new neighbour was a smoker. The
superintendent told Elizabeth that there wag -
nothing to be done. The building was really
old and the vents couldn’t be sealed. It wag
also perfectly legal for the downstaip's
neighbour to smoke in his apartment. "Hq
suggested that Elizabeth should buy an ajp
filter and sec if that would help. Elizabei
bought an air filter but didn't find it 10-be

7" Elizabeth was suilcrmg from

(A) Pneumoni
|

((B) Asthma
(D) Cardiovascular disease

(C) Bronchiti-

Choose the correct antonym : *Moum”
l(A) Joy | (B) Vitalize
(C) Motivate (D) None of these

26.

\;7./ Give one word substitute for the following:
“one who sells articles at public sale!"j_ '
(A) Auctionor  (B) Juggler =

—

(C) Shopkeeper (D) Auctioneer -
s i’ |8
PR §
_28. Choose the correct synonym :“E:dje?fj i
((A) Banishment | (B) Expose e
(C) Mystery (D) Proof % 1
. ."’t_‘ 5 .;.
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5/ B 71 I e 33 24
mtmﬁuﬁméﬂﬂmﬁl
YT ;

L 9w v 3 e & 3 e o
8 % am Aedf agr A2

I ¥ F oR-~aR sodi € o
¥ wrh wfi ar R

(A) U1 T R 3R w1 eE

R

(B)
©)

F 1 3011 2w o 3 |
mllmﬁaﬂ'{?ﬁu‘qim
MERR)

Ll ol I O (o yp—
FEHINE S |

Read both the statements and decide
which of the following answer choice
correctly  depicts  the relationship
between these two statements.

Statements :

(D)

1. Police authority has recently
increased  vigil during the
moming hours in the city.

There has been considerable
reduction in the incidents of petty
crimes in the city.

Statement 1 is the cause and
statement I1 is its effect.

Both the statements 1 and 11 are
independent causes.

IL

(A)
)

©

statement | is its effect.

Both the statements 1 and 11 are
effects of some common cause.

(D)

Statement [l is the cause and

347 faen g+ / Find the odd one out :

LT o
w

3,13,17,23,33,67

(A) 13 o
© 17 (D) 33 |

G:IUWU@ﬁﬁEﬁ‘{{mﬁqz_iﬁq_{
SdemsmaaRil  BE

Find the angle between the hour hand
and the minute ham|i of a clock alLG:l N
(A) 138° (B) 125° |y +F
(C) 115° (D) 180° 9 «*

afe A 26 5 w9 F Fifea fvar s 2,
B ® 25 & ¥4 # witea fear ovan , ©
SUuFTFRaFmIm .
3R ZH 1| F A wifza o g,
@ MOBILE ¥ g s @ |

If A is coded as 26, B is coded as 25, C
iscodedas 24 ......... and Z is coded as
1, then find the code for MOBILE. _
(A) 152214181252 (B) 122518152214
(C) 181522141225((D). 141225181522 |

2 3me 43-39 T ) e word

2§ﬁqimaﬁmﬁmmﬁﬁ
?
(A | | ®) amm

© ey (D) AP
A new species of Damsel fly named The

Anamalai Reed-tail has been discovered
in which state ?

(A) Kerala

(B) Assam
(C) Tamil Nadu

(D) None of these

Mﬁﬁﬁﬁ&mﬁm, ‘% = Af 5f %

RIS I SR e —

?

(A) wm (B) fm

O Fm | D) wdwrd
Gopi said to Vivek, “That person is the
father of the only brother of my mother.”
What would Gopi call him ?

(A) Uncle

(B) Father

(C) Maternal Grandfather

(D) None of these

( To join us on teleg-
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STETS Sttt (fiet 411) 3 Frik (died

413) F WY @ TR W ana
g faa )
(A)_stmm (@) s
|I(§f_3 ke | (D) wia

arkash conducted o
Partnership Excrciscuivflh = Mantime

i Nav
ships Almazz (PC 411) and Wimer (P&
413) in the Reg Sea. ) and Nimer (PC

(A) Oman .
© Swhn (D) Femce
smyfer Frefefen § @ fre &7 @ waft
WIHCR 7

(A) TR

(B) IYNITHI ARTEHAT |

(C) ieteng witad

(D) Frt s

‘Jagriti’ is a mascot related to which

among the following fields ?
(A) Income Tax

(B) Consumer Awareness
(C) Climate Change

(D) Crypte Currency

277 werg # fRm ivtmars = 7 am fafEn |

[(A) =T’ | (B) W

(C) wnRE (D) wawl
Write the new name of Aurangabad
located in Maharashtra.

(A) Sambhaji Nagar (B) Dhule

(C) Dharashiv (D) Satara

cmmmﬁmwﬁﬁiﬂ*

Fazein Gada B H HFAE T JEPK
R gerfa foma man 7
&) 4% @) 3.
(C) =W (D) &4
Which country's All-Party Parliamentary
Group on Indian Traditional Sciences
conferred the Ayurveda Ratna award 7
(A) UK (B) UAE.
(C) China (D) Russia

&%

¥

4

o1 A 3 e T 3 aRa R

el ) v () H St widrr
gEHI?

(A) 3T (0) feem

(C) @ (D)

Tata Power Solar staried, l.ndiajs Iarg.m
Floating Solar Power Project in which

state ? '
(A) Assam (B) BrI'.tar
(C) Kerala (D) Odisha

fearee wew i 21 Reei @qF A
w1 WaT 2022 foF 3T & A A G 7

(A) Wi A&

(B) wma RWwE

(C) wma ahgaEes e
(D) v 37 e Tl ST

Between which countries the 21-day
joint exercise Vajra Prahar 2022

concluded in Himachal Pradesh ?
(A) Indiaand Russia

(B) India and France
(C) Indiaand United Kingdom .
(D) Indiaand United States of Amenca

PreferRan 3 2 fem ol 3 e, 20227,
st Raeifedi & ez 1 9§ & 1o
wrdrg aiEfE @9 (I0A) & W
AT ArETl 1 @I R ?

(A) Tomda ssia eS| -

@® foi
(C) TmeT e

(D) 3w .
In July, 2022 which of the following

cnmpanz announced a long-term
partnership  with  Indian  Olympit
Association (IOA) to elevate
performances of Indian athletes ?

(A) Reliance Industries Limited
(B) Wipro

(C) Tata Enterprise

(D) ONGC

5\
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N2 Fem, 2022 6, FE 9 Y w0 wEe

A Ferary whrof fred 9 farfoa w3
& o foed wm v wwsta T W
wEaan fee g 7

A) dwmey B @0 |

(€C) FIMAM (D) wHawrA
In July, 2022, Coffec Board has signed
an MoU with whom 10 develop climate-
resistant varicties of the coffee crops ?
(A) T™~NAU (B) ISRO

(C) DRDO (D) None of these

d¥ m_ﬁﬂmm&mm%m

: i wrsn F d
R) s | 1) gm
(C) wrd (D) % A= TE

Which among the following countries
shares longest international boundary
with India ? ’

(A) Bangladesh (B) Bhutan

(C) Nepal

4 ﬁqhmaﬁﬁaﬁ:mmmﬁumt?
| (A) SEEEm (B) =g
€) =afem (D) wHAFE

Which among the following is the
capital of Israe] ?

(A) Jerusalem () Baghdad
(C) Dublin (D) Noneof these

mﬁﬁ!ﬂ'ﬁiawa%wtz
(A) R faro

(D) None of these e

(B) MM 4 ¥y it =1 daa )
g A gfg

(€)= wexlvamatal ®) qram

(D) e Y yrflerdy

The objective of the ‘Dak Karmayogi

portal js : '

(A) Grievance Redressal

(B) Enhance {he competencies of
~ about 4 lakh Gramin Dak Sevak

(©)  Awarding Best Performers

(D) Participation of Public

Prferfiga 3 @ e toa i Ruma ofeg & 7
“ (A) smEs  [(B) FAES

(c) 3ifEm (D) TR
Which of the following states has the
Legislative Council 7

Jharkhand (B) Km:nnlnkn
Eg)) Odisha - (D) Gujarat
‘u/éﬁaﬁwa&ﬂma@%ﬁtﬂﬂ%wﬁ
TAET AT 7 .
(A) BF@E( (B) 8 frw
(C) 83mg® | - (D) 87&m

Which day is celebrated as Indian Air
O} Force Day ?

ESE (A) 8 February (B) 8 September

(C) 8October (D) & November
38" Frefefan § @ 6w =1 miede o

T AT & 7

(a) =t (B)

©) el (D) fifdin

Which among the following is also
known as Scotland of India?

(A) Coorg (B) ‘Srinagar

(C) Mussoorie (D) Darjeeling
g YO | Rffi ) g

FAIR |

(A) ==l (B) wgwen

(©) wwsh (D) ¥H &% =l

art is the traditional an of
Stenciling from Mathura,

(A) Kajari _ (B) Miniature art

(C) Sanjhi (D) None of these
_5T, ﬁq%rﬁqaﬁﬁzol4ﬁmmmm

209 TR WA E R 7

(A) d=m (B) ¥mw@s

(C) IEz (D) e

Which among the following is the 29
state of India created in 2014 2

(A) Telangana (B) Jharkhand
(C) Uttarakhand (D) Sikkim
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.H.

Praferfian % & fvm wafts 3 shig oo
"até\tﬁ HH 7ré vt fae "
e 7

(A) &l zariz wad
(B) _SETERETS YEw

(C) =TT mth
(D) ¥R FeenT e

Who among the following persons
wrote famous book “The Story of My
Experiments with Truth” ?

(A) Maharshi Dayanand Saraswati
(B) Jawaharlal Nehru

(C) Mahatma Gandhi

(D) Sardar Vallabhbhai Patel

gavee A diass M vedft F afusw
Ieafia H 0 €,
st agrea S A # )
(A) SUET R (B) vt fare |

(C) AR NEHM (D) ¥4 A% e

Greenhouse gases in the atmosphere
absorb most of the Earth's emitted

which hecats the lowq

atmosphere.
(A) Ultraviolet radiation
(B) Infrared radiation
(C) Visible light

(D)

None of these

areftate Prefafea | @ fem 2n =1 il
G 7

(A) $RRm (B) We
(C) 3=t (D) 3 A 5§ 7

Volleyball is a national game of which
among the following countries ?

(A) Indonesia (B) Ncpal
(C) Argentina (D) None of these

frofefea sede ® TAEE BH W T
Wt (9. 543 58) F I AR |
AT T2l 36 FEm ) Ta 30 F @i W o |
Fa @ R | = am vm P wrfn St 3 IEEE W
for e A e aerl st wEea B9 § | W -
Hier 1 TH-TSTE ¥ T T o ) & '
Tewl, ferie, wm, witen, i, 3vfm 3 R
wita =, €%, FHF, 713 TR AR O6E 95
gl ¥ d R A AW WY FEH w9 A € |
TEet 3 Tewh Yer W H T S §Ee
T T @ 3 e e ' A T o= @
AT Y 7 HA N TR A 5@ € ) 5= g
R S s wg e @ 1 59 & R awgn
T ¢ W areh w3l v e . = e h =
&, I 30 T T s a o § s ard
T2 W F € e § W A en dwa £ 13
am AW TR E, T R A
W H A D 3y F ¥ | Refrarhe smam W
W A aEm, W@, I@, TER T S N
TS YerYl § =it awaa 1 31 TEibS Saed
& @ ¥ g o grEen A g s R 13 W
I 1 T v E, R o & e | =i
Y T W q@ 2 | T g I=ga, e,
IFETEA, L, WA 5 WA e HR)
mﬁﬁm;émmmﬁwﬁn%‘ﬁ LiCE n;mmfhg
e | TE FU IR R | F
mn & 6 Sfiem e R 1T S T R I e
reaa a9 | 9E A i 1 R @ s @ | v
F 39 T A g 1§ [ e =1 5@
T TG & | Fieral ) Tél Thell ook 3 A ug
2 | W@ % = o= | niien 9 3vfm f G
23 W IR F MG A=A WR |
FM @R TN ? -
54, ™ 6 g Gt 1§ aes gl F wdm
# oa v3 @ 2 1| Gy e w4 @ 3w
o H1 FF |1 HRV 3RE T e 7
(A) TEI-F T -HIT 1 o | |
(B) YRER & it g1 I T=i B
e S @ femn |
(C) & FoW % I "IEE el

$ IS |

- ( To join us on telegr- -

(D) M &0 S wrfEi ) wnfa |
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A

“56.

Te® 2] 1 H w0 A gl @
Fom dfart) = - gen 2 7

1. itfe g

2. 9EE Ak

3. wmandd. singa

4. e sEged

W 123 (B w3

':C) 2-3-4 (D) “F‘ﬁ

ST 3t & e g e ) A

o= & foq s g SRt 2 7

(A) maﬁﬂl (B) = e g

C) ==& @ T=wEr

T TR S SR @R 7

() T e A v § el
T ¥ TeaEd 3t wEm B o
A wred =@ § o o mw A
g @l
7D ‘o I wew v %
ST v Aftea © ﬁaa,—d R
TEE |

(© -am = v w7 2 o
=R | R E, A E e
w § 3 B A % T s

T-aFR |

(D) Tl 3 Ferl % E-TR T
LG B G
AR R Ee |

e

i ?

ﬁ’%@“‘%ﬂlﬁmﬁm

(ii) T & Wi w=m |

(iii) WA GgFE @ & |

(iv) = e 6 I |

A, @), Gty
Eeh

=
=

P Fe0E W AT G 18 W
Wi (3. 59 % 63) % 3w R | e
Sm R TEa F@ B 5 TR i
a&ﬁaﬂwm&#mmmﬁmmtl
i ¥ fdr wEE R Q0 F 6 g 7@ FEE
m%ﬁmnaﬁzﬁlwﬁﬁ%ﬁqm
T et s s P W R, fd R
3 6 & e o e v B s A
ﬂmmﬁai'ﬂar :-‘:"_7:?'};1"3 H:Fﬁ
mm?ﬁfﬁﬁéﬁlﬁ 3'--”3"'7::'-'-;}_':,_1'_;3-‘-\-‘3{1
& s e S e vl = g, AR
ToA IeEee Wahl S o @ | 9% 3 W
SFA % Tua wal 3=l SR Wi
3R S 9 W wEA S e s aea B
il gm T fFea 8 Tee S odEn A @
Yan a weal el S i fyar o T A
F=a H 7 B & Iem | 798 A v e o e
mmm%mﬁmhm%m

I SRR U STeTeE el 36 fere ')
R 1 = e e w3

o TR | 5 a5 A W

%ﬂﬁglﬁﬁm‘?’%@mﬁ;ﬁ
ﬁﬁm‘mmﬁﬁmﬂummgl
R B 3 T el e
A @ R ) s s e 3
Wﬁauhm%rgmmm%ﬁm
mtﬁ;ﬁmﬁmﬁﬁﬁmﬁmil
ﬁ%mﬁﬁﬁzqﬂmw%mmiﬂmtl
HW W qm%“ﬂﬂmﬁzmm
8. 9. o & v \
FHIEd
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N F I W | vw | 63, Freferfn i A wawe s W @ R

SR W Fr=ffem § @ @ R sy frdw w1 IzrE 2 7

fmgéﬁm (A) e 3ei & ura ad @ orf o

2. wmd e f g | ¥ fore tan T A |

3. m@gmwmgl (B) =i % famfi ate A van e | et
4 mmgi' (C) ﬁﬁﬁmgﬁﬁwm%m "o
(A) 4 0 (D) MAFET@EIE | | T e
(C) 1 lin)) ?; 3| ¥ W, 64 } 68 : P o 16 (@

@) T AT W A 2011 R 2016 T OF

AT 6 Ay
fom, Rdw & a9 F A vl o A I A e § TiE

= _ ©
ﬁnﬁqﬁgaﬁammmmf? i | s s e v R Es el | Vs
: 'S

; Q.Nos. 64 to 68 : Study the following line 7,
Wf§ ¥q a=@ | graph which gives the number of studcnts““t-";P

3 mlﬁmi‘lma | " \;l:ob,iuipcd the schml:;l and I;ﬂ the school in o
: 1 1 f i iX years,
s o T | BB gy e

3 et B uery e, |[ £, mirniiemn-

: I ﬁ‘ﬂ'ﬂﬁ’iﬁt :'ﬁn"" - 500 5m—‘!m- = -51.'.':-—-'“.'
Sifem (@ew g 30— = - —

4 q94q ﬁ%ﬂ ﬁ)m%ﬂ'm m f ;{:: -“::.f - -ISQ“_JEG __im_—:
%,mm%mﬁam ] i e
nfa%:&ﬂaﬁaﬁémm ! 'E T T W13 3‘7{4'" W15 o016

|(A) ]'314 (BJ 1.2,3 —miﬂnﬁﬁ;;ﬁ:;":vﬁ“ﬂﬂim

(C) 1,24 (D) mmtl Number of studets wha fained wchust _Numiber of stwdents mbe (8 schoe!

AT, Prafafes ¥ & wome & 39 @ e | E:ﬁﬂ;g.ﬁa?gﬁgm;ﬂ@

Fran=r mrmaE L ¢ ol @ wen A W

(A) ¥ %S S Tw. 3. ?n&\\';tich \t:r iﬂcﬁﬂmt ?mge rise/fall in the

(B) I 3 I A wie-w number of students who left the school

C) w3 71 w1 @iign = compared to the previous year is maximum ?

(D) dfem &% @ A wan uA (A) 2011 (B) 2013

¢ =R % AT WS % Prefafa J’(J(C’ 20l | (0) 20

i A o9 6 g Awand € 7 72012 & 2013 &% THe 6 {1 A AW

(i) ﬁ%mﬁaﬁ%‘%a:mﬁi;am o wferras 1 gfe /#5087
Sy asat | 1S 4 The strength of school increased /

" ﬁ:f/‘ decreased from 2012 1o 2013 by

(i) Fem euafy # el > approximately what percent ?

Sl (« (A) 1.1% &B}; 2.i%
e mgﬁiw ﬂ 567 2014 = el § T Al ol
- - AT e ot '

(iv) @;ﬁ?ﬁ * ¥ , Tl';le n;t:jnb-_:r og osﬁd:ms studying in the

| : ol durin was :

(A) ()3 Gv) | B) ()3 (i) _ fj\)o 2750 ' (B) 3050

© ()3 Gi) (D) (i) 3 (iv) (C) 2850 (D) 3150 |

= - - Ig‘(%-ﬂ':
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w5 i L}Vﬁﬁﬂﬂwﬁﬁaaﬁmﬂ

F@mmﬂﬁaﬁmﬁiﬁaﬁmmm nfa'!m sftw ot 7 . .

oIS TR BT sifteran ven A In which year the percentage increase in

_ﬁﬁm feed 7 production as cutppared?to the previous

€ Talio of the Jeast year was the maximum ?
v s st e, st pumber of | TS 5 ANSTE) 200 ) 200
¢ \ 0 schuglmi’: ;l:m : of students who left | 227 few e fFad i 1 dress & I fen
Rl d o the years during the e a9 % ol Tz R i o 2
A)7:10)(B) § : 8 (©)7:9 (D) 5:7 In how man: «f the given vears was the
68. 2013 ﬁ“ﬁ"ﬁ‘mmmﬂ . production ! mahiles more than the
20l6ﬁ%ﬁwma[ﬂﬁﬁum ?;:)T?g:]" LTS (R ;IF IE.‘IC 1_"_1}&‘!1 U.‘:ITS?
m ‘n o ; A - - -_)vl 4
e o 7 7 2001 < £ nTIEA &
sﬂ;: nr{nbcr of students studying in the "’”/ ST o+ oo sty 5 b o 7
“m:ﬁc:“ 2!'013 Was what percent of the Wh ' -
sthool inznlﬁ“j?dcnu Studying in- the inc .-m;dn‘:
(A') 37“/. 90 50% 0] 2f I P ESIO R | B 1 31 0ol ?
_— (©) ;9.12% 93 759, [ AN, 166.67% . (g) 195%

8. 698 73 : 23 @ =1 v = 3k e o %), =
zﬂqﬁmyﬁ*mil ‘ ‘!}Tﬂ.?d%?ﬂ:ﬂﬁﬁﬁﬁﬂﬂiﬁﬁﬂﬂﬂ
mnswo i) €0 73 : Swdy the bar graph and 4 F w0 A e A sen A e |

. M“Ul;st::sbmdonit: mﬁﬁﬁm@mﬂnmiimgm
=~ Production nf Mabile h"’:‘fmtrm {wrm &) @W#ﬂﬁr&iwmm&mwt |
= m e deyn. || Q-Nos. 741078 : There are five companies and we
iw = have been given the number of loyees working
ES @ _ -l in diffcrent companies. In the table o toro also
H e | B = b been given the percentage of malr e
ii »-N-—1-R - 5N ‘i!; employeesin account and rescarchdy.  5/7
- . _ _ .
! ol 02 2003 :|fu ; 2000 | whedy = Research
B | Yeurn * | Company Employees| 59/ ﬁ; ge/ 7
‘1 “69. 2005 3R 2006 = ahea e = - M‘-;. l-‘u::lt :1-!: Female
W R Feffen 3 A frm = § 7w -B 700 1119 | 10 Iql 113
— IO FHF UMW Re > ST ST I I
X% (A) 2006 3% 2007 (B) 2004 3% 2006 e T Y
- e e~ -39 12| 18 ¥ 3 3
(C) 2004 3R 2005(D) 2002 32007 | | 73~ = v o 5 25 1_]
gdl 'S The average production o " * 3 & ﬁﬁ}*"
T r.’g‘?' 2006 was exactly equal 1o the average TE MBA ! frft & 3 srgsvm By
M 3 production of which of the following i‘%ﬁ;ﬁk 40% FHTIEl % IR MBA
\ irs of years ? > , W H T
f'{‘g’ TA). 2006and2007 (B) 2004 and 20067 mmmgﬂ?*m 5
- (C) 2004and2005 (D) 2002 and 200
£ If 60% of the employees of company E in
\ ~ 2003 ¥ 2004 TF TEEA P IQA account department have MBA degree
w e s froae e o ¢ mﬁ‘of&nm of the same
the oximate percentage y in have
% b = :ﬂ:lla-.ln:'ﬁ the .‘;'E:)duction of mobile EE:&%“- “""’E:"“‘ “'3“;: E",;Ii"m
- - 2
N%{“" AySi%e (8] 2% (CI23% (D) 29% M2 (BT (6 Toe )ss
Lo

Do oocmw I

~-- 1

.- Bowid o, 03
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75.

76'

i

PSR R S p——
N E % Seun wfaid @ g
HEAT A S e vl st 2 7

The 1otal number of account employees
of company A is approximately what

percent more than the total n
research employees ¢ -yl

(A) 231.21%
(©) 238.54% ) 228.67%
w9 A 3 C 2T % S fam & ke
g? 3%’;; quﬁw’f mﬁt F9 B i p 2
I fovm 3 wnitg T wigen
FHeTTE B g A @ ¢ '
What is the ratio of the male employees
in account department of company A
g?d C together to the female employees
andrgcarch der;anment in company B
(A) 208:115 | (B) 27:187

(C) 43:188 (D) wHAPETE/

None of these

ot PRI (S D Y vrew) § S
fenmm 1 aften FaTiEl # g Premw
e 3k wft Fafl (S A o E ®)
OISR - A agEum Rwm % ge
wruied) ) Fa frer e & v W
Fm fren @ 7

What is the difTerence between the
number of female employees of account
department in all companies together
(excluding company D) and the male
employees of research department in all
companies together (excluding
company A and E) ?

(D)

'E‘lﬁ(m 128 (B) 142 - %
E'EITCVBB_I FHADE G/

None of these

78, o1 fvm 3 St B & wlgen sl

# w@n &1 wggur fam # Fw C %
T ST o G A I e R 7
What is the ratio of the number of
female employees of company B in
account department to the number of
male employces of company C In
rescarch department ?

(A) 5:2 (B) 13:4
@ﬁi (D) 4:13

WEHH 7T9R 8
fm % anun e w=l A, B, C.D

e st feree &1 @ | |
Q. Nos. 79 to 83 : The following table gives
the percentage distribution of po

. Py wifert T @ 3N
3. P i

pulation of

five states A, B, C, D and E on the basis of
overty linc and also on the basis of sex.
T/ | ndvark | g o i w I/
State MR Proportion uf Males and
i Females
TG
i / mitna | Matad
Percentageof| 1/ Below | T/ Above
Population | Poverty Line | Poverty Line
Below he
Poverty Line
g/M:%/F | §/M:R/F
A 30 5:6 6:7
hall: 20 3:5 4:5
= 25 M 1:2 2:3
B 20 3:2 423
E . 15 £ 5:3 312
29, wew D # wheh Y@r @ FW W A
ﬂﬁﬁraﬁﬁﬁm|w3}rﬁ,uﬁusm@
f& T D 9 e 7 fifea @ 7
(A) 24T | (B) 3Pt
© 13ff@m (D) 3.6

What will be the number of ﬁ:-mnle-:s
above the poverty line in the state D, il

it is known that the population of state

D is 7 million ?
(A) 24 million
(C) 1.3 million

(B) 3 million
(D) 3.6 million

8y TR T C ¥ forg it @ @ IW M

oS geu @ we 1.5 i g, @

= C i g e e 2 7
(A) 4sffrm  (B) 5.25ffe
(©) shfems | (D) 5.75ffam

If the male population above poverty

line for state C is 1.5 million, then the
total population of state C is : .
(A) 4.5million (B) 5.25million
(C) 5 million (D) 5.75 million
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3 TR TR B ¥ forg i Y @ A2 H

v

N

“
y— ¢

37 7
21

1 ® =7

Toul < e 2.4 fuft st TSR E
% fo 6 fiferm 2, & owdi B s E B
T A I A R

I the population of males below
poverty line for state B is 2.4 million
and that for state E is 6 million, then the
lotal populations of states B and E are
in the ratio
(A) 2:3

(C) 3:5

(B:J 1:2
(D) 1:4

R 0 C B 5 s 4 PR 2,
ﬁmcﬁmm%muﬁwﬁﬁ
w#ﬁmmﬁﬁq|

(A) 12ffmm @) 2 fRm
C) 18ffem | D) 2.4

If the total population of state Cis
4 million, find the total number of
females above poverty line in state C,

(A) 12million (B) 2 million
(C) 18million (D) 2.4 million

T A % o0 vl Y @ = o o
T ) T e = A AR T A
% for 6t Yen A s o wh sfed
1 8 Pufera & 2

Aa) 21ffem  (B) 355 feferm

©) 25ffmmm (D) FHIAFE A

What will be the approximate male
population above poverty line for state
A if the female above poverty line for
state A is 1.8 million ?

g2

_gq iem g2 # 7 fFR T8 & W@ W Im
- gaman ? . EE
(A) T (B) TSH
© FE (o) frm
Gautam Buddha attained enlightenment
on the bank of which river ?
(A) Ganga (B  Gandak
(C) Punpur (17 Niranjana
\.as/;h'lh%ﬁf : At Hr-ﬁ%rﬁa?lﬁ
R o urE
‘ g
(A) it T
©
Wi il
du that
shi:
1(.-\; by beabiiiig) | \15) Pataliputra
(©) Magadha (D) Kurukshetra
86~ Frfafam & 4 fhe ¥ R a=a
"SR (Tftee) OHIR" o 7
C) g (D) TE®

Which of the following army’s strength
was “Guerilla warfare” 7

(A) Maratha  (B) British
(C) Mughal (D) Nayaks

87 T R 2 it e () 6y
FH g R F fag

A1 1 FEAT foRan T o |

(A) eRH Tereft

(B) wrfigia Tmmft

(C) w3 i Twret

(D) =W wnft gemd (sfm)

: technique was used for
making bronze statue of Dancing Girl

during Harappa Civilisation.
(A) Stone carving

S o (B) Iv i :
(A) 2.1milion (B) 3.55million (c; wﬂdﬂ:?:g *l E .
(C) .2.5million | (D) None of these (D) Lost Wax casting lo. R

a - am =3 3 S — —
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(D) &w@ wigr

:::nle shc name of first activist who
manded  complete independence
(Poorna Swaraj),

(A)  Maghfoor Ahmad Ajazi
(B)  Bipin Chandra Pa

(C) Bal Gangadhar Tjlak
(D) Hasrat Mohani

89. Frofaftan 4 4 A v sridrer

(A) =ften firen & wama gfere st ke
% ferg forr ooy |

(B) v fm srftrfaerm, 1899

(C) =mrer = e &} =1 oo |

(D) oI v Fea sifufiam, 1900

Wlﬁch of the following is considered as

major cause of Swadeshi Movement ?

(A) Funding for police and railways
instead of women education,

(B) Calcutta Corporation Act of 1899.

(C) The decision to divide Bengal.

(D) Punjab Land Alienation Act of
1900,

A0 fafen 3 Prefefem & @ fem s
Wy §AS H Wed w0 Iegenal

g

faré 7 |
(A) HEHd (B) &
(C) am=h (D) ¥4 Q= 7E

n which of the following languages
British showed keenness in introducing
in Indian society ?

(A) Sanskrit (B) Hindi

(D) None of these

(C) English

1935 % WAUT] §

B mm:;';n"'gm-" yfuwt F

le of the ultimate
Wi s 3 900 ot
the provisions of the GovV
tndiaAct .%935 ""_ T
(A) SPCC'MI'PO\.‘:\szmcms |

bolition of diarchy
Eg; gsmélishm:nl of federal bank

D) Division of power
. i 6 T FEfEn § 3

frasgu ol 7 (8

R -
D
0] %ugwurd Bloc was isiundl:d by whom
3 ong the following
& ?:.1) %vinhatmn Gandhi
(B) Subhas Chandra Bose
(C) Sardar Vallabhbhai Patel

(D) None of these

| 93~ faed 2 o0 F wEen mh F

fofg & g g3 F100 41 }

(A) figa 3 el & a4
THA EA & AT

(B) $qTedl 3N qEGAHE] & 419 A9S
T A F |

© figil i faml F d S
o@al e & o |

(D) AT |

The main reason behind Mahatma

Gandhi's dccision to (ake up the

Khilafat Issue was: .

(A) To bring more unity among
Hindus and Muslims.

(B) To bring more unity among
Christians and Muslims.

(C) To bring more unity among
Hindus and Christians,

(D) None ol these
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T —

' P “fRr 2 e %
47w § Praffen A & frw e Wi | oos. Mﬁ%mmgé
3 A & Ao s I I El%@ a7
EE— (B) o vadia Ao
(B) . () gl deadia A
(C) zvm 3 Feran fvee (D) it e G |
(D) " With objective of “Growth with
At which among the following places in Stability”, which among the following
India, one can find a wide difference in Five Year Plans was launched ?
y and night lemperatures ? (A) 4" Five Year Plan
(A) Thar Desen (B) 6" Five Year Plan
(B) Kerala (C) 3"Five Year Plan
(C)  Andaman and Nicobar Islands (D) 5™ Five Year Plan
(D) Goa , i
99, Frafafea 4 & fred safndl a1 safeg
38 B g e Al (2 ) % TR % T I sgawr e § 7
Into how mrfair?timc is the (A) .
world divided ? g i (B) T4 % Tty a1t Jum
(A) 12 e (C) T &=
(B) 30 . (D) A FE AL
©) 24 Which among the following consists of
(D) Fﬁ%m?@ | None of tlicss :ruos:‘:;cgsf Jm%dua?g? individuals or o
36 Fefifen § & ¥ e shads () Public Sector
Prok Gk (B) State-owned enterprise
: | (C) Private Sector
L(A) ¥ (B) wad (D) None of these
© 73 D) = _
Which of the following is not a MWWWWWWWR%
companent of population change ? 63 FEUAST TR )
(A) Morbidity (B) Migration (A) 2mam
(C) Death (D) Binh (B) = -
I TN AT PR i At o | ST P awi e
(A) w=e B8) 3t @) T‘F‘"’“““*"‘f“"

t hich i h
© Remm  ©) Www o “lungs ofthe planetcarr, " ** "
Which among the following is the capital (A) Taiga forest
of Lakshadweep 7 (B) Tundra forest
(A) Kavaratti (B) Aizawl (C) Amazon rain forest
(C) Silvassa (D) Port Blair (D) Rain forest of North-East India
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